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YA 1 UsAUAUL 9Ll UeAsHis % GrRaAdlHL Quil.
Instruction : Write the same question number in answer-book as mentioned in the question

paper.
1. AlAHidl siSuet s [avy uR Feiy quil U
1.  Write an essay on any one of the following : 25

(1) dles Ysdldi sleud.
(1) Poetic-elements in Vedic Suktas.

() eusel As-Al uRay.
(2) Introduction of Brahmin Literature.

(3) Hel™MRA : w5 [4sqsia
(3) Mahabharat : As an Encyclopedia.

(¥) dAles zadipil 3.
(4) The form of Vedic Deities.

2. AlAmiel sidust s [y uR Foly avil : U
Write an essay on any one of the following : 25
(1) Agd o Ale
(1) Sanskrit ¥ literature

() Agd -esiHl Gauld
(2) Origin of Sanskrit Drama.

(3) ctRdld sdAul s+ 2 Yol Rigld
(3) Doctrine of Karma and Rebirth in Indian Philosophy.

(%) eRdld saldul HialaR.
(4) Thoughts on spiritual salvation in Indian Philosophy.
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3. () YA UMl 53U : (S15u8L ui) 10

3. (A) Do asdirected : (any five) 10
(1) oA 1/ F usuel/Imperative)
() maghat 1 ([ F usudl/Imperative)
(3) =R 1 (/% »usuel/Imperative)
(¥) 3 uE= | (/¥ ususl/Imperative)
(W) 7oy fomnfed | (\/ ¥ »usuel/Imperative)
(8) oo @R 1\ F [Qaed/Potential)
(9) @Ed 1\ F [a=el/Potential)
(¢) @Rt 1/ 1 [a=ed/Potential)
(©) == | (\[ 7 (4=l /Potential)
(10) & F==T: | (\/ ¥/ [a=4l/Potential)
3. (6) AL UMLL 52U (s15usL ui) 10
3.  (B) Do asdirected : (any five) 10
(V) TR _ sdemmovEm | ([ F Aslds ejdge/Past Participle)
() foemedd a7 v wM | (\ T Aelds eydgerd/Past Participle)
(3) FomHE __ orgerd wma | (\f T delds eidgerd/Past Participle)
(¥) W0 w1 ([ R Aels ofdged/Past Participle)
(W) TToreT: HigEHH, A2 A | (\[ 7 2edus ofdge/Past Participle)
(9) wwggai __ wstFE | ([ F Scad ge-d/Infinitive Participle)
(9) wem3aH __ vgw ata |\ ™ dcadd ge-d/Infinitive Participle)
(¢) deggvd s w1\ 1 &gl ge/Infinitive Participle)
(¢) BELwA _ Iagen |t | ([ 98 ecaed ge-d/Infinitive Participle)

XE-104

(10) TTEE: Fg=E 3w A | (\ 3« el se-d/Infinitive Participle)



Seat No. :

XE-104

T.Y.B.A.
March-2013

Sanskrit : Paper — XI

(Grammer)
Time : 3 Hours] [Max. Marks : 70

Yyl (1) wHell eny salde »is oL yud .
Instructions : (1) Figures to the right indicate full marks.

() UMD 2UAL UesHLS % GrRASIML Avil.

(2) Write the same question number in the answer book as mentioned in the
question paper.

1. () A 2uual woelAl 34l Ul : “
1.  (A) Give grammatical forms of the following words : 9
(1) AWHl 5924 QI d A ¢
(1) Locative Singular (any three) :
T, ST, AT, Y, O, T,
() Wl elgaut (A1 d =AY ¢
(2) Genitive Plural (any three) :
F, AR, 76 (Fh), 7, 5 (79.), 7
(3) ddlul 2sauq CIH d =) :
(3) Instrumental Singular (any three) :
Sfeq, S, i, e (), To, S

(o) A 2udal 3ul 2loendl (I d ui) Y

(B) Recognise the following grammatical forms : (any five) 5
T, ATed, dd:, w4, 7, fagm, faf, a9, akeeany, o

() <12 2ude digiiql 3ul 24l 10

2. (A) Give grammatical forms of the following roots : 10

(1) aduinsia [gdla you 25954 (1 d o) :
(1) Present tense 2" person Singular (any two) :

JF (@), AT AT, 44T
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(61)

(B)

N

() &ld Mdslon ddld Yy 2saa4 C1H d o) ¢
(2) Imperfect 3" person Singular (any two) :

AT A[TE (TR, [T (REL), A7
(3) sl wAH Y elgaud (A d o) ¢
(3) Imperative 1* Person Plural (any two) :

VAL AT A AT

(¢) [amel wan you [gaaq M d o) :
(4) Potential 1* Person dual (any two) :

T A AT (), A T

(W) uet eidsion ddlu Yo visaad (I d o) ¢
(5) Past Perfect 3" Person singular (any two) :

[T A T A T (), A #

A2 2udal 34l 2loeidl I d AR) ¢
Recognise the following grammatical forms (any four) :
g, e, WA, ST, T, J9d, JaTd, FIE, Aa

3. YAAL UHIBL S
3. Doasdirected :

(1)
)

()
)

(3)
3)

()
(4)

W
()
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A4 52U QI d A9 ¢
Form the Sandhi (any three) :

&+ B, O + 3, F + A, o + T, A9g + SR, a3

A4 9Ll (I d AR ¢

Dissolve the Sandhi (any three) :

firdrer:, dfgd, Wiseq, TR, TR, Teaed

AHALAL (A2 530 AU 20l (I d A ¢
Dissolve and name the compounds (any three) :

E i:’ ?' L 3 :’ 3|!EE:|_\5 \ﬂlla'q\, q9d §.
9065 AHSIAL AHIRA AL CIHL d AR ¢

Form compounds of the group of words (any three) :

3
3

T T T, TN T, 7 ST T |2, TS 0L, IO = Ul =, T T 30

AvalpiiA Agd WoelHl @vil (1H d o) :
Write numbers in Sanskrit words (any two) :
&¢, R, ¥R, %G, R

R

2

1%
14



¥, () YAAL UHIRL 3Ul 2l
4. (A) Give the forms as directed :

(60) 1AL asal YL uHRL 530 dvil (I d ) ¢

(B)

W () Al ausal YA Yol 53 vl (il d awr) ¢

5 (A)
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(1)
1)

()
()

(3)
3)

(¥)
(4)

Hsdleds I d 6l) :

Comparative (any two) :
i, g7, T 79

Avsdledls (A d o) :
Superlative (any two) :
Aolus odsed (A d o) :
Gerund (any two) :

T AT A= A

fer 3w (A d o) :
= form (any two) :

SN PR S AN ENE

Rewrite the following sentences as directed (any three) :

(1)
()
(3)
(¥)
W
(%)

Rewrite the following sentences as directed (any four) :

(1)
()
(3)
(¥)

SfeaoTt et o | (@R Yl / Use @)

q: T T | (A9 &2 52U/ Remove TH:)
afesr foar fafgAite (3wl / Use &)

T T =T uideEtd & 1 (T g2 53U / Remove &)

AT 3T | (3T ¢R 53 / Remove 37e)

e quar: TREIfT | (¥R A eled [T WAl / Use ¥ in place of [¥3%)

Fel: gat T o | (5dlR WAL s21 / Change into Active voice)
T JAT | (H1d YdldL $21 / Change into impersonal passive)
ferantém: 76 vomta | (54081 waloL $21 / Change in to passive voice)

YT TR BT GG FAT | (dleR1d Wl g2 521 / Remove Genitive
Absolute)
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(W) aRmsstafa stafd sga: @ g siafd | (ldawdHl g2 52U / Remove Locative
Absolute)

(3) BEM 3T Fatd | (YRS YL 521/ Change into causal)

(9) T A WHEEIH (88 T 3R | (-UM4lg Y4l / Use denominative
form)

(¢) @ uer et g2 F4: | ([aed e+ udlsl / Use potential participle)

() 2L sl YRl 530 avil (I d Ay ¢
(B) Correct and rewrite the following sentences (any three) :
() TF ToAra S TBh |
() A HEET: e Jog: |
(3) =@ e g el |
(¥) IR Gere gay st |
(W) T Suas ye= at |
(8) oW, ®aeH e |
21941/OR

AL UsAHL Sl 2UA Aoei-L A1y 3U Hsl vidl UL Y1 (IH d ARl
Fill in the blanks using correct forms of the words given in the brackets (any three) :
() TTTE@UEFA A | (Fan)

(R) _ SerE g | (gER)
(k) TR U | (FR)
(¥) ®ee__ wEAld | (HEh)
(W) FEt A (fF)

(8) TP wEm_ 1(FR)
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Lo (@) Al Ul siSusl AnHl g5l uRAy Al ¢

(e1)

/()

(e

XE-104

(1)
()
(3)
(¥)
W

C.P.U.

UR{RES

s2ld UAd

352y

Sye-viGeye [ausy

N

AL 5L Gualel weual (I d 6) ¢

(1)
()
(3)
(%)

(152
dls
20

6ls Y

Al2AAL waAlAL 25HL walel Ul (I d ABL) ¢

(1)
()
(3)
(%)
W

af sisydreul daid Wil sral g sl ?
adui sl elldR GHRAL 9 s ?

S5l Gualal 3 wTeRTier g, dvial g sl ?
Uogrel 1AL oMl widl ek GuRdlL g sl ?

[Max. Marks : 40

s

THER Aot 516578 53, drl e TR o Ry s g s2ell ?

AL sl el wié se sly avil (i d aR) ¢

()
()
(3)
(¥)
W
(%)

sisydred Ad S2al
sisydred [Ure 52l

2L 3isyH-ed Hdse s2a
oe "2l sl

ogl 12 A s2al
sisydredl sivl s34l

P.T.O.



3.

Al2AAL sl 5ML walel d@vil (1M d i) ¢ 10
(1) dHRL syl sidamiall eusSsil AR Sué s2a g s ?

() iyl w5 Adl a8 SAS 5L M2l 2% Avil.

(3) 2eUSsA siUl-Ure 53l M2l 2 Qvil.

(%) UG wAH sHAL Al 4 HA sl HIeHdl W vl

(4) eSS ALE-4 244 eS8 Al 2 [Nl 24l

(9)  2uUFosart vy sdL g s2el ?

(9)  uldR Uil 2ddl vlHaAHAL AR UslRL wRldl.

(¢) RRUSHL Baauxile SAS $9L Hledl WL dvil.

AL uslAl $5HL waor @vil 1A d o) ¢ Y
(1) isua dleni siandl uslousui 3251 541 9 52 ?

() A4 serend 52 v Ue sl g s ?

(3) HY Y=g Ar2R SHI=gAl GUUIDL AL Hie Ad 9 ?

(%) asdled AA5H s2aL g s ?

A2l waAlAL $5ML walet auil (I d ) ¢ Y
(1) -eas vied g ? d weudl, deas-l usil weudl.

() Owerne gll dd g g 531 wsl ol ?

(3) Gl S5 g 9 ?

(%) SHSe vied g ? slelasd SHSAHL A s2al ULl WL Avil.
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